
10 RESULT8 AND HINTS FOR

XVIII.-Page 55.

(1.) .007916; .0001099989. (2.) 1199.365234375.

(3.) 69.0625. (4.) $14591.602 eldest; $4166.663 two

others. (5.) Read 4.190476 instead of 4.1908476. 2 tons

2cwt. 2qi's. llA*fflbs. (6.) .65706. (7.) m^l
(8.) .0117203. (9.) Examined, 160; average, 250.

(10.) 61.22.

:IIX.-Page 56.

(1.) If the work be denoted by 1. Then A and B do

1 in 20 days, or r^ in 1 day. B does 1 in 60 days, or

3»5 in 1 day. Hence A does ^'^— s^^ = toO i^ o"® ^^y»

and 1 -i- jg0 = 33] days, in which A could finish the

the work by himself.

And B does 3*5 in 1 day, or in 20 days he does |g or

J of the work.

A does j§^ in 1 day, or in 20 days he does ^^^ or |

of the work.

(2.) A and B do 1 in 6 days, and ^ in 1 day. B does

j^
in 1^ days, and

-f^
in 1 day. And A does J

— fs =
5«5: and 1 -5- 5*5 = 30 days, 1 -f- ft = 7^.

That is, A does the work in 30 days, and B in 7^

days.

(3.) A does 1 in 15 days, and y^^ in 1 day. B does 1

in 18 days, and j^g in 1 day. Together they do ^^ of the

work. ^§ remains to be dono. Here B leaves, A con-

tinues for 3 days, and in that time does the ft of the

work. When C begins there remains of work |||
— ft ==

I g. Of this A does the ft in 4 days, and C, therefore,

must do the -/^ in 4 days, or the whole in 24 days.


